Term 4, 2008

Friday 21° November 2008

ANSWER IN SPACES PROVIDED (SHOW ALL NECESSARY WORKING ouT)

1.

The cost of buying pre mixed concrete is given in the table below.

CONCRETE COSTS
$30 delivery fee plus

$127 per cubic metre

Christian paid $474.50 for concrete.

How many cubic metres did he receive?

A country has a population of 8.3 million. This number increases at a rate of 25 thousand per year for six

years. What is the population at the end of the six years?

f

25m 18m

" K

- Ym ——P— y —»

The diagram above represents the cross section of an indoor hall that is being built. The diagram could be described as

being a semi-circle joined to a trapezium.

(a) Use Pythagoras” Theorem to find the length x to the nearest centimetre.

NOT TO
SCALE

ot

< 2Zm >
ABCD is a parallelogram formed inside a rectangle with length 22 metres and width 9 metres.

Find the perimeter, in metres, of the parallelogram ABCD.
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(b) CIRCLE your answer A, B, C or D to the following in the space provided.

The area of the semicircle, to the nearest square metre, is closest to

A) 548 m?

(B) 1096 m”
© 2191 m?
(D) 4382 m?

(c) Find the area of the entire shape.
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5. Find the value of the pronumerals for the following. Give reasons.

(a) (@ s
{ ot 48"
b (e
102°

113°

(©
42
7
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6. Expand and simplify if possible Factorise the following
(a) 43x~5)+2 (a) 3x+6
(b) 7(12y +8)~3(10y -8) ®) 6x%+5x+1
(©) (2x-4)? (c) Factorise and simplify
a’-3a-10 . a*-7a+10
a*-a-6 a’-4
(d) (3b-4a*)3b +4a”)
2
(e) (% +4x)*
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8. Michelle works as a bank accountant and is paid an hourly rate of $18.40 per hour for a
35-hour week.

(@)  Find Michelle’s normal weekly wage.

(b)  Michelle is paid a holiday loading of 17.5%. Calculate the total amount that Michelle is paid for her 4 weeks
holiday

Mr and Mrs Casey have signed a hire pufchase agreement to buy a dining room and lounge suite priced at
$8500. The agreement requires a payment of $2000 cash followed by a monthly payment of $150 over a five
year period.

(a) What is the actual price paid for the suites?

(b) What is the annual interest rate charged ?(To nearest 1%)

10. Calculate the area of the following figures.

(2) ®)

12.5m
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11. For the triangular prism shown below, find:

(a) the surface area

(b) the volume
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(a) Determine the surface area of a cylinder with
one end whose radius is 5.3 cm and height is 3.5
cm. (Answer correct to 2 decimal places.)

(b) Determine the volume of the cylinder in (a)
correct to 2 decimal places.
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13. Solve the equations:

(d)  Find a certain number which when added to 34 is
equal to 200 less twice the certain number.

(& 2x-1=13.
x-11
®) =0 1
Find the value of B correct to the nearest minute.
2 1
© =
T(x+3) (x-2)
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Find length g correct to 1 decimal place.
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16.

Cem was in a boat observing a lighthouse on a vertical cliff at an angle of elevation of 54°. The cliff was 94m high.
Calculate the horizontal distance from Cem to the base of the chiff.

17. A plane leaves an airport and flies 900 km on abearing of 145°.

(a) How far south of the airport is the plane (to the nearest km)?

(b) What is the three-figure bearing of the airport from the plane?
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18.
(a)  Make a table of values and plot a graph for

y=-2x+5

(b) Find the gradient and y-intercept for the graph below and hence find its equation.

¥
Cara .
o y-intercept =
L. A |
i gradient =
W, RE
EES - .
gt equation:
3 -
=104 i

(©)
i) SKETCH a line, which has an x-intercept of 3 and a y-intercept of 6:

(ii) Find the equation of the above line.
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X(-3,1),Y(2,-1)and Z (-1, 6) are 3 points on the number plane.

Plot these points on a number plane.

(a) Find the exact distance of the interval XZ, (d)

(b) Find the point M, the midpoint of the
interval YZ. Plot M on the number plane.

(c) Find the gradient of the line XM,
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Prove that the lines XM and MY are

perpendicular to each other.
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The cost of buying pre mixed concrete is given in the table below.

1.
SO —
CONCRETE COSTS #’ %7 t
$30 delivery fee plus ﬁ 30 00 2_
R
d# ¢ s0

$127 per cubic metre

Christian paid $474.50 for concrete,
How many cubic metres did he receive?

bhguso 2127 = 3.5 ‘bk//

Cocoved 35w of Lonoede.

2. A country has a population of 8.3 million. This number increases at a rate of 25 thousand per year for six
years. What is the population at the end of the six years?
= % 150 ©007 )

L5 000 X é»/rs
g oo 000
& 4SO OOO;&: [/

3.
NOT TO
SCALE
27m -
ABCD is a parallelogram formed inside a rectangle with length 22 metres and width 9 metres.
Find the perimeter, in metres, of the parallelogram ABCD. }
P - (Axis) + (1x5)

2 2
o= 41l A

YR RAs '%O*WV//

! 2< :“fUM:ﬁA;‘
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The diagram above represents the cro
being a semi-circle joined to a trapezi

25m

um.

— Hm ——p— ; —p

ss section of an indoor hall that is being built. The diagram could be described as

(b)

The area of the semicircle, to the nearest square metre, is closest to

©) 2191 m®
D) 4382 m?

v

(a) Use Pythagoras® Theorem to find the length x to the nearest centimetre.
2 2 2
25 = A 41 B \/
LoX=217344 % N
X = (735 V\/\L
4t
CIRCLE your answer A, B, C or D to the following in the space provided.

() Find the area of the entire shape.
i+ (o B
b 5> (L B8 ) < 1B /

k=109
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5. Find the value of the pronumerals for the following. Give reasons. 6. Expand and simplify if possible 7. Factorise the following

(a) 4(3x-5)+2 (a) 3x+6

: = Jlx-20 42 \/ 42) /
- X 42
’ % / T AX-1D l/ !

. /,Zﬁ"///f//émf\/e i)

@

v/

w156 (Hiwdts)

®) 702y +8)-310y-8) ®  6x2+5x+l -6
as | B i A N o G N B

. 54 v b F=3, 7
5 i+ 60 e )@ n)

& = (2 fl)(52{+/> L

(® (&
102° g (© (2 -4y? (¢©)  Factorise and simplify
. + 100 #113 -}é@%m Jc +50¢60° = /YOOZK Sor of 421807 @ b el \/\/ 4-3a-10 a*-7a+10
ﬁ ot Jc (107 = 1807 v S |
J t 215 =360 2( ! M’X (i /1{

-0
g= 1 v iC:JSO -

(o) (51 (b T

(d) (3b~4a*)3b+4a")
= (3b)l~ (6‘&3)4 "

T VA o

a-3

©

fuadaaa’ = CIPTD N ey 1)

L+ 52=160" / W 54067 (o ent & 4 s s 0//

(e) (% + 4x)

- () = (4‘1

< 2_99 b oi2xt sl
Lf -
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8. Michelle works as a bank accountant and is paid an hourly rate of $18.40 per hour for a
35-hour week. ’
(a)  Find Michelle’s normal weekly wage.

35x £ /840
] Mzﬂf /

(b)  Michelle is paid a holiday loading of 17.5%. Calculate the total amount W is paid for her 4 weeks

holiday

4x Fert x //715%/
= § 3v2¢.80

#

Mr and Mrs Casey have signed a hire purchase agreement to buy a dining room and lounge suite priced at

$8500. The agreement requires a payment of $2000 cash followed by a monthly payment of $150 over a five

year period.

(b) What is the annual interest rate charged 2(To nearest 1%)

(2) What is the actual price paid for the suites?
~  dlogo + (/l)( /50 x 5)\/
= Blooe + {9000
~ K 0004&
Tidectod = #liooe —  Fasvo
hasoo (Byes)

I

Ir

&

A500
&0

X/O‘O/._—‘Lg = %5% = 1

7

1y
(1

L/

10. Calculate the area of the following figures.

@ ‘ 0

«—1825m— )

A= Fl2iSx s A

= (¥ obm™ / -
()

1
{
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11. For the triangular prism shown below, find:

4cm

2cm
3cem

(a) the surface area { /
. It y 72
A: D’z(ﬁ ,(j&(’—l) + [3)(2) S (ZXS_) PZé’)(Z)
12 46 410 +%

3bcm T \/ @

s

e

(b) the volume ,(
2
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(a) Determine the surface area of a cylinder with
one end whose radius is 5.3 cm and height is 3.5
cm. (Answer correct to 2 decimal places.)

(
/) 2.

sy 53 4 AXTXE b JisT

= 193:05em™ 7

(b) Determine the volume of the cylinder in (a)
correct 10 2 decimal places.

- th
V=T .
= 30%.¢T em?
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13. Solve the equations:

(@ 2x—1=13,

ot *f

Ix =4
X7 \/

148

(d)  Find a certain number which when added to 34 is
equal to 200 less twice the certain number.

A3 = LL-l00

134 = oL
/

) =1

o’ ~1f :‘f(?

7
=50 7

2 1
© T(x+ 3)><(x ~2)

Ix-f=7L+2l
550 7

X=—5 7

:Yearly Exam 2008.dot

Macintosh [l

14
Find the value of B correct to the nearest minute.

3.1 cm

15

dantr = B~
Vv

fl/ = Hﬁ’#m/
C*(/TLCMHLZ =13 / =,
R .

q= —=
7 . .

16.
Cem was in a boat observing a lighthouse on a vertical cliff at an angle of elevation of 54°. The cliff was 94m high.
Calculate the horizontal distance from Cem to the base of the cliff,

T 54224 DS 666,«4%;

P -
Ci‘frv\ ‘3(’(‘6&;»5%>er

‘5“( k\/ o= 74

s

54 o

17. A plane leaves an airport and flies 900 km on abearing of 145°.

(a) How far south of the airport is the plane (to the nearest km)?
N

" (s 5 =%
qo0 900

1= 400 0s3S”

v = A
- T o (et ko)

N

d ool

@f D‘O _35 C‘/‘ X sum D’FA:\E’D\?Q

o /
D= 55

o }M‘W\é o‘F O\i()()(+ 'Pﬂ?rv\ ‘\710&%
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18. \\
(a)  Make a table of values and plot a graph for \ 7
.
y=-2x+5 \
Z i\~ & @] 'L 3
L
“YWi7 191 ,
)
e 5,

Do

‘ J° Pret

(b) Find the gradient and y-intercept for the graph below and hence find its equation.

R e
O/ i
8 y-intercept = g
M 7o}
=TT gradient = t ey

_ 0

i _
<6 equation:

7. @ 7

e
g e

Y= 4x+8 o~

(©

6] SKETCH a line, which has an x-intercept of 3 and a y-intercept of 6:

(if) Find the equation of the above line. Mz - ,é‘_ =-2
3 Ve
4 wt =6
KV) ==2x+hb v
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X(-3,1), Y(2,-1) and Z (-1, 6) are 3 points on the number plane,

Plot these pomts ona number plane

2

T

x(f‘s%al) v4 ({Ln,‘é)
mt'ﬁly
N

_ 2%

Ao aC

) Find the point M, the midpoint of the
interval YZ. Plot M on the number plane.

de‘;ouér: (Jx—‘«‘ ;’Q ' wﬁ
= ('}’;‘j )

r]+b) l/
NPT =n = (3, %) /

(c) Find the gradlent of the hne XM

oo ( 5 M3

3 ~
M c U 2 W
XM _:\_7'\l 2‘
- 1
biey X =Y \/
- N l NNV -
e -
1343 K
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(a) Find the exact distance of the interval X7,

e R,

(d) Prove that the lines XM and MY are
perpendicular fo each other.

T e xHs b & MY

M X Mgy =71 L5
H:(L) -

No o M, 2 Y = (20

5/ +1

-3,

2
>

o

1< @
MXHX' MM%

NV | 1\’\(
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